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Question 1

Identify the complete sentence:

(A) Running through the park.

(B) She was running through the park.
(C) After running through the park.

(D) Running through.

Answer: (B) She was running through the park.

Question 2

Which sentence properly uses an infinitive?
(A) I like to swim in the ocean.

(B) I like swimming in the ocean to.

(C) I like to swimming in the ocean.

(D) I like swim in the ocean.

Answer: (A) | like to swim in the ocean.

Question 3

Which sentence is correct?
(A) Few of the apples is rotten.

(B) Few of the apples are rotten.



(C) Less of the apples are rotten.
(D) Few apples is rotten.

Answer: (B) Few of the apples are rotten.

Question 4

Identify the sentence with a double negative:
(A) I don’t need no help.

(B) I don't need any help.

(C) I need some help.

(D) 1 do need no help.

Answer: (A) | don’t need no help.

Question 5

Which sentence contains the correct use of “its”?
(A) The cat licked it's paw.

(B) The cat licked its paw.

(C) The cat licked it paw.

(D) The cat licked its’ paw.

Answer: (B) The cat licked its paw.

Question 6

Choose the correctly punctuated sentence with a coordinating conjunction:
(A) It was raining, so we stayed home.

(B) It was raining so we stayed home.

(C) It was raining; so we stayed home.

(D) It was raining. So we stayed home.

Answer: (A) It was raining, so we stayed home.



Question 7

Select the sentence that correctly uses a reflexive pronoun:
(A) She made it herself.

(B) She made it hisself.

(C) She made it theirselves.

(D) She made it themself.

Answer: (A) She made it herself.

Question 8

Which sentence is correct?

(A) I'm going to lay down for a nap.
(B) I'm going to lie down for a nap.
(C) I'm going to laying down for a nap.
(D) I'm going to lied down for a nap.

Answer: (B) I'm going to lie down for a nap.

Question 9

Identify the sentence that contains an irregular plural noun:
(A) The childs played outside.

(B) The children played outside.

(C) The childrens played outside.

(D) The childs’ played outside.

Answer: (B) The children played outside.

Question 10

Which sentence is correct?



(A) She gave the book to John and I.
(B) She gave the book to John and me.
(C) She gave the book to me and John.
(D) She gave the book to | and John.

Answer: (B) She gave the book to John and me.



